[image: image1.jpg]: The width of an open box is half its height, and its surface area is 75 m”. Find the
| L\ dimensions of such a box so that its volume is maximum.

(6 pts)

Indicate which of the following functions satisfies the conditions of the mean value
| . theorem on the corresponding interval.

a) f(x) =(x+1)*" on [-2,0]

b) g(x)=(1-2x)""* on [-1,0]




-Please include all steps and rough work needed to arrive at the correct answer and for understanding of the problem 

-Please answer the questions with the corresponding numbers and letters

-You may have to zoom in to view the questions because the scan quality is not very good

